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Theck whether you havc got the right questlon pnpel

N.B: 1. All the questions arec compulsory. Kl N LR L
2. Figures to right indicate full marks. TS D S OTR 7
3. Working note should be part of the answer, - o RS N

Tk (15) gl
Q.1. Shree Ram Ltd, is considering purchase of oné macluue from two maclune models one <&
ABC and another is PQR available in the market The mmal cost of : ABC machme T
Rs.1,50,000 and that of PQR machine is Rs.1,25, 000. Both-machines have ﬁVe years ol'llf o
with no scrap value. Company provides deprecmtlon\on strzught line method. Income ta\ rate‘ > }
is 30%. Expected profit before deprec:atlon and tax forboth the machmes and, present value of

Re.1, @ 10% rate for the next five years is as follows, S "
Year [PV factor @ 2
10%
1 0.909 4, 000 -
O 2 0.826 .| 45,000 -
3 0.751 o ;52\,000",.\‘,5:.-'." :" )
4 0.683 S 015500000 :
5 0.621 % 70460,000. -] 60;000 & &

You are required to ealculate Net Presenl Value of each macmne\mode
factor and suggest the company as'to whlch machme\should be pur'é:hised.

* ' (15)

Q.l. Evalua,te £ pro_]ect byNP - Net present value ) and PI ( Proﬁtablhty Index ) method
which reqmres -mmal outflow ot' Rs»l ;00,000 and' wﬂl generate revenue of Rs.60,000
,Rs.30, 000 ,Rs.ZO 000":Rs- 50 00 IandiRs 50 000' from the end of first year to the end of fifth
year. The requlred rate of 1 l’Cl'.'lllTIJS -1 0% nd mcome tax rate is 50%. The project has five year
life andMnll be’ deprecxated on stralght lme bas1s The present value factor of Re.1 at 10%
dlsceuntmg factoras follows 2= = ,
AR P\( :factor @ "

15
: ,'Q 2 Green water o,f Mumbax manuf‘aclurer of Air condition give the following details (m r)espect
R of Two compoqe,uts namqu X and Y used in the manufacturing process :
p Nbrmal usage \‘ A 100 units per week each
5 Maxlmum usage 150 units per week each
50 units per week each
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Reorder quantity:
X
Y

Reorder period for:
X
Y

.
.

Calculate for cach component

1) Reorder level
3) Maximum level

information, which option is bcttér suggest Wlth suntable calculauons

800 units S Y
1,200 units QL

to 4 weeks ‘
to 2weeks =+ '

2
|

o ‘:>": e {
« 2y % 0 i

S #

;1 ‘ ; ]

2) Minimum. lcvel Ry
4) Avcmgc sldck ]cvcl

i )

(15)

and 1s in the process of
evaluatmg two proposed pohcnes. The compnny has reqmred rate- of rcturn of 25%. The
variable cost is 70% of the sales: and-fixed cost is Rs.3 ,00,000 - pa. Gchn the following

g ’\ AN Ju\_..‘\ / o ‘\j"
Particulars Eresent policyC POllC)M)pthTh- Pohcy optmn 2
Annual sales i RS .0, 00,000 ’Rs 60, OQlOQOJT_ ‘Rs 64 90, OOU
Credit period o 3 ﬁibnthgﬂ,aﬁ\ < 4 moﬁthS¢ " 215 months <
Bad debts 5 Rs.l 50 000,\“* +|Rs:3,00; 000 )

q;’

(\ ‘\"~

(13)

RO 00D \J:" R ’ .
Particulars « 0 /T, 0% '~:
Directinaterial

.(Dxrect labour

Othcr vanable cxpcnscs %
: Ad_mmxsf:ratnfe oveqhqads
= |'Selling overheads = ="
" *P,roducuon &overheadsr

-3(75%,Vaﬂable)
Wi 3(20% ‘Variable)

- |'640%-Vari ible)

Rs

OR
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Q. P. Code: 21851 —

72, (15)
Q.3. Sncha Ltd. Gives you the followlng cost details for manufacture ofproducl Z nt ‘capacity
level of 20,000 units. ‘
Particulars Amt, Nafure of vnrmblllty
Direct material 12,00,000 | 100 % Variable
Dircct labour 8,00,000 * | 100% Variable
- Factory overheads: ) ;
Lighting and heating 4,80,000 75% Variable
Repairs and maintenance 3,60,000 : 50% Vatiable
Depreciation 4,80,000 100% Variable
Office overheads 2,00,000 ‘ 10% Variable
Selling and distribution | 3,00,000 ’ 50% Variable
overheads L gnies \ :
Total 38,20,000 .

Prepare a production cost budget for produclion of 15 000 umts and 25 OOO umls qhowmg total
cost and unit at cach level. QS NN ey WA £

P Ay
% Q.4.a. Choose the most appropriate alternative-and rewrite the sentence
1. Equity shareholders are ‘
a. Creditors R
c. Loan crcditors,;"' 2 g
2. s llablhty ofa bank. . Y
" a Treasury Bills. -+ £ & b Commermal papers
) C. Cemﬁcatc ofdeposn AT d Junk bonds '
3. The numbc;;roﬁyean :‘kcn by a prQJBCt to’ coVer the, mmal investment is called
- Payback period .~ \b.,lnvestment penod &
c;,PIo}'xt pcrlod ‘ d: ,I\@ue of the above'
e < jS};\S\(o}Eigg\éapxm A
fp S (.a ;Caﬁtz(l\rcgmred fmaﬁc’ng daytto ’day a(?llvxtles b.Capital to finance fixed assets operation
~Capital wor,l_c}ngi,ln‘\thef nga _sra,thnp;.y(.\ d. None of the above
f (%3 \\-_.‘i‘\' 'Y,:’\ :’;'_-v Al ~ N ATQ ’,""_
\ _‘S \,.'\\ '\. s
4 ~6 ’Cash’budgets rcpresent

S ,f\Cgs'hrcccxpts b. Cash Payments
ash -reca;pts and cash payments d. None of the above

b. Larger in quantity
d.None of the above
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Q. P. Code: 21851

8. The scarce factor of production is known as

a.Key factor b.Limiting factor> -~
c. Critical factor d.All of the above :

Q.4.b.State whether the following statements are Truc orx I‘alsc and rcwme thc sémence
(reason not required) ) i

1. Depreciation is a non-cash cost. D A DG ML e ST P

2. Preference shares have preference over cqmty shares in rcspcct of dwndend and rcfuud o
3. Interest on debentures has tax bepefit. - o :

4. If we pay creditors late, we require morc worlang éaplta
5. Motive for holding cash is transaction> motw Sl

6. Receivable management affects shareholders va]ue. S

\,‘

P

! Workl\ng capltal cycle, S u\@' .

. Techmgues for mVentorwma,qa g:m t

o r\.,\,\,\ /\ ,n,‘,\ \0\ RO
,,’;S,”' e v e

o { 3 “‘\',- ) -

g 1Y,
A N5 WAL AN

207 TG A /\’\
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